Lec5 - AR model, PACF
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Auto-regressive model
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) of the loss function of the form
Biased signal When the signal of interest in non-zero )
average, the biased model of the form is used, = |y —Xa|".

Finally, §[8] = ayy[7] + aay[6] + asy(3].
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Finding vector a values is (almost ) trivial by a mininum

(18.10)
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Finally, (8] = ayy|7| + azy|6] + azy|5].

Confidence Interval

“importance” of the coeflicients is 95% confidence bound
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Filter command in Matlab
Q,:l

a(l)y(L) = b(1)x(L) + b(2)x(L — 1) +
—a(Q)y(L = 1) — ... —a(ng + 1) y(L — n,).
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Another way to quantify the
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